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1. Which one of the following statements is TRUE for all positive
real numbers z # 1 and y # 17

1
%logyz ' loga:y = -1

(b) log(z®+¢*) =3lnz+2Iny Propesties of L"j""'UW”

(c) log(zy) =logz -logy

(d) (logz)" =nlogz

If P

P. 295 omd P. 397

See also problowas

#2540 pHod

is the period and S is the phase shift of the function

y:3csc<g—z), then P+ S isequal to

_f 10m

(b)
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Sen. tromple & Pag 533
M.L P{ab\w /1 I 14 P 535
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1
—— +cscx
sin x _
-71— —sinz
It 5 problem #53 P.S56o
o) 2sec’z and also similay b #25, 44
(b) 2cscz P. Sbo

(c) 2cos’z
(d) 2sin’z

(e) 2tan’z

The number of vertical asymptotes of the graph of

y=2cot2x, —m<zx<m Iis

See %w’w 25 ‘7(1 section, 5.6

o similay lo Pfﬂb’eﬂw) #291) 30y 31,
325,39 ,40
p. 526-527
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5. If sect—tanz =A where A#0, then secz+tanz =

Am o\f/p/icu\%'m %/ I I'clﬂln/‘h(j

1
Sec"x - '/'M 2 ::|

6.  Which one of the following is a factor of csc® z+cot z—317

}a"f cotx + 6

(b)

cscxr — 5

cotz + 2

cscx —cotx

cotz — 15

The wee of f& ideatiFy
cstx = I4cot' x

and fndan‘ma oj‘— A +"'.’num¢\f~(.
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7. The length of an arc that subtends a central angle of 135°
in a circle of radius 40 ft is

% 307 feet

(b)

207 feet

257 feet

157 feet

357 feet

S epample s p 469

b Ho3-404
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9. Ifthe hypotenuse of a 30°, 60°, and 90° triangle is 10 cm,

then the perimeter of the triangle is equal to

& (154 5V3) em Propertion 4 o 20, 600) omd %o
(b) (15+5v2) cm friomle  Sea p. 479

(c) (2+2V10) cm

(d) (10+10v2) cm

(e) (10 +5v2+5v3) cm

1 3
10. If cosa = j, a in Quadrant IV, and sing = ~5
B in Quadrant III, then tan(a — () =

- It Prabfew\ #4493 p.s57I
36 omd Smilar & %mp’e"f p. 567

13 wmh  Problewa # 37 Is 45 P 57
(b) 84

© o

(@) —5

© &
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11.  The domain, in interval notation, of the function f(z) = logy(62° +z —2) is

See me'e. 5 pP.38g

J Y R A
o (2

0 (2

o (=)

0 (=Y 2Yo(b)

12.  Which one of the following statements is TRUE about the function
f(z) = —3sec %a: on the interval [0,2]?7 [Hint: sketch]

Sea (’/xm?)e q P 524

s p. 525
%f is decreasing on [0,1) U (1,2] omi ‘mek P
: and  problews # 35}
(b) the minimum value of f is —3 37’ <% p. 527

(c) the maximum value of f is 3
(d) there are two vertical asymptotes for the graph of f

(e) f is decreasing on [0,1) and increasing on (1, 2]
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13. If a car with a wheel of radius 40 cm is moving with a speed
of 120 kilometers per hour, then the angular speed of the
wheel of the car in radian per minute is

See Q/fw'e 7 PpH70

% 5000

(b) 4000 omld Problemy # 67 & 72 p.473
(c) 500
(d) 3000

(e) 50000

2
14. If ogxg-éf, then the graph of y =|—2cos3z| is

increasing on the interval

IEan Problem # 49 p. 5IE

(T T 27
%_E’ﬂU[?_ﬂ omd Similay & ?)rob)m
o [o5u]5 7 $ 47 I 54 P 5I%

omd Example & b. 517

o
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8 1 log, 3
15.  log, 16 + logs 77 + <§> =

Prab’wvs | - 30 p349|

16. If sin20° =2z, then tan160° =

,,LM“@”,_.:;() - Fomdl .

o
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7 4 7
17.  The exact value of cos —41 tan ?ﬂ +3v2cos g 1S

sf V6 I3y Simitny & Problem #66 PHIE
(b) 36 omd  Similnr (v #6l L 66
(c) —2v6 p. #17- 41%

@ Vo2

o Vo=V

18.  The solution of the equation ::v i- Z:z =3 isequal to
IL in problom 46 P45
Mln\/ﬁ L 46 P Y S
(b) In2 M,’ S';/mi,hY G 31
le 4 p 4Hlo
(c) In6 and WM?
(d) Inv6

(e) Inv3
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19.  Which one of the following statements is TRUE about the
function f(z) =2""+42%7

/Ca')/ the graph of f goes up to its far left and up to its far right

(b) f increases on (—O0,0) Soa PYab,M # 35 G 3%
(C) f decreases on (0,00) P 3 77

(d) the graph of f is asymptotic to the z-axis

(e) the maximum value of f is2

20. Two buildings are 240 meters apart. The angle of elevation
from the top of the shorter building to the top of the taller
building is 30°. If the shorter building is 8 meters high,
then the taller building is

IE Pmblw'#7‘l P 4¢7

M(g%o\/ﬁi) meters high (75"‘7‘ d\ovﬁ":) S—M*M

(b) (8 + 8v/3) meters high e o2y 5)
(c) (8+ 80\/_2_) meters high OW\A S;M\.;’M t} eyxmﬁ\iw
(d) 88 meters high Y omd & P HE€2-9€3

(e) (8+8v2) meters high omd P{ab‘m # 76 ,’."’87
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21.

22.

The graph of f(z) = ‘log% (2z + 5)| is decreasing on the

interval

Pt (—§ —2) Sea Prob'w 444 L 56 Pb.34]
g ol #5195 68 P22

(b) (—2,00)

(c) —g,oo>

3 4
Let W be the wrapping function with W (t) = (5, —-5-),

3
then sin (—g — t) + tan(7w +t) =

Sac wmf!el p. 500
29
15 Sea Probloms | e 2 P.sog

(b) =

© -1

@

@ -
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x

23. If [ is an exponential function of the form f(z) = a°,
and f(—2)=9, then f(-1)=

ok To fond b bras of o
(b) =3 (y)(p(/)\]/y\hl/p vﬁ«zﬁc"im

24.  The graph of the function f(z) = —2sinmz+1 on the
interval [0,3] intersects the z-axis at

.53
M four points Seo. f‘/)‘ww&/&l q P
Y
(b) three points ok @{ab‘@mﬁ # 33 (v 44 P535
(c) two points

(d) one point

(e) five points
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25. If z is the solution of the equation Inz =4—2z* then
z is in the interval [Hint: Use the graphs of f(z) =Inz
and g(z) = 4 — z?

& (1,2 (= wa'-éw\ #5b PHIS
(b) [0,1] o/ Similar G problens
1 4 5l Lk S6 p 45
© o3

101
@ |73]




